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المطلوب اختيار الضمير الذي يعود على المفعول به.
1. I can't see Leila. I can't see ________
إجابة
(A) him
(B) she
(C) her
(D) he
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2. Can you help Ahmad and Abdullah? Can you help ________?
إجابة
(A) they
(B) you
(C) them
(D) he
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3. Drink your apple juice! Drink ________!
إجابة
(A) it
(B) its
(C) your
(D) them
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  4  -  What is the correct order of the parts of a letter?
A) The heading, the greeting, the body of the letter, the closing, the signature
(B) The heading, the closing, the signature, the greeting, the body of the letter
(C) The greeting, the body of the letter, the heading, the closing, the signature 
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1. What is the correct order of the parts of a letter
A) The heading, the greeting, the body of the letter, the closing, the
signature
 (B) The heading, the closing, the signature, the greeting, the body of the letter
 (C) The greeting, the body of the letter, the heading, the closing, the signature
You need to work harder you will get fired
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2. Which of the following is a run-on
A). My friend and his sister work a lot, so they don’t go out very often.
(B) My friend and his sister work a lot they don’t go out very often.
(C) My friend and his sister work a lot. They don’t go out very often.
(D) My friend and his sister work a lot, they don’t go out very often.
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3. Which of the following is a comma splice
(A) You need to work harder, you will get fired.
(B) You need to work harder, or you will get fired.
(C) You need to work harder. You will get fired.
(D) You need to work harder you will get fired.
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What type is the sentence in each of the following?
 ما نوع الجملة في كل مما يأتي؟
1. "I will go to bed as soon as I finish my homework" is
a complex sentence
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2. "I will finish my homework, but I will not go to bed after that" is
a compound sentence
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3. "I will finish my homework and go to bed" is
a simple sentence
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4. Which is the best way to rewrite the following sentence?
They don’t buy junk food because they like healthy food.
Answer
A. They don’t buy junk food, so they like healthy food.
B. They don’t buy junk food, but they like healthy food.
C. They like healthy food, so they don’t buy junk food.
D. They like healthy food, but they don’t buy junk food.
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